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[7412-A]
CHEMISTRY
(AT MHE
(Hindi & English Versions)
[Time: 03 Hours] [Maximum Marks: 70]
"fAger:

(1) Tt uar [T €l

(2 U4 . 1 ¥ 4 db I&JA8 U 2

QR)UHA B. 5 7 db Ucdd UH 2 3P &l &l (g TIAT 30 AsE)
(A)UH . 8 ¥ 10 dP UcAd UH 3 3 &1 &l (Asg AT 75 QAeg)
(5)TH . 11 T 15 dd AP UH 4 3 & ¢l (g HAT 120 Q<)

(6) T . 16 T 18 dh UcUD UM 5 3idh & ¢l (g HAT 150 QTeq)

(7) UM . 5 ¥ 18 do NdRe fadey & aw §)

Instructions :

(1) All questions are compulsory.

(2) Question No. 1 to 4 are objective type questions.

(3) Question No. 5 to 7 carries 2 marks. (Word limit 30 words)

(4) Question No. 8 to 10 carries 3 marks. (Word limit 75 words)
(5) Question No. 11 to 15 carries 4 marks. (Word limit 120 words)
(6) Question No. 16 to 18 carries 5 marks. (Word limit 150 words)
(7) Internal options are given in question no. 5 to 18.

¥.1 el [aded &1 g hfFv -
(1) 1 #A &I AH BT § -

(a) 0.623 x 10%® (b)  6.023 x 107
(c) 60.23 x 10% (d) 602.3 x10%
(2) dUAE # gig & WY HA ga H Y8 dda RE YhR YA Tidr &7
(2) TAH TecT & (b) A AT AT &
(c) d&dTl STIaT & d) @ PIfEa oRada a8

(3) SEAWIH FEfIT AL & -
@) TEEfas aRada # g arem Far aRada

(5x1=5)



(b) TEIfA® AACRAT 59 #AET 7 dedr ©
(c) X g W H#fARRAT gueat g §
(d) Tafae afAfrar Hr gumaer

(4) TolEex 306 ORg ¥ -
(a) CaSO, (b) CaSOA.% H,O
(c) CaSO,.H,0 (d) CaSO,.2H,0
(5) e T IUPACATH & -
(a) <HCTSISA (b) =g
(©) 1-=g&= (d) =ggr-1, 3-8/ s
Choose the correct option -
(1) The value of 1 mole is —
(a) 0.623 x 10% (b) 6.023 x 10%®
(c) 60.23 x 10%® (d) 602.3 x10%
(2) How does the surface tension of a liquid vary with increase in temperature?
(@) Remains same (b)  Decreases

(3)

(4)

()

9.2

(c) Increases (d)  No regular pattern
Thermodynamics is not related to -http://www.mpboardonline.com

(@) Energy changes involved in a chemical reaction

(b) The extent of which a chemical reaction proceeds

(c) The rate at which a reaction proceeds

(d) The feasibility of a chemical reaction

Plaster of Paris is -

(a) CaSo, (b) CaSO4.%HZO

() CaSO,.H,0 (d) CaSO,.2H,0

Correct IUPAC name of a4 is —

(a) Butadiene (b) Butene

(c) 1-Butene (d) Buta-1,3-diene

R Tu&r & gfad Hifae -

(@) AT PN F FIAT PHaThT P FoT FEIAT ........... BT &1 (213)
(b) Th &Y H W A .............. ST 3EIOT &1 (Gl dd/ dg dF)

(c) IR TAFARTES BFs...oovereeen. Tl (3 3Fd/qEH &4R)

(5%1=5)



9.3

.4

Fill in the blanks -
(a) The total number of orbitals associated with 3" shell will be
(b) A cup of tea is an example of
(c) Boron trifluoride BF; is
(d) Dryiceis ...ccccvevrvvrnnenn.

() &l
(ii) TSI

(iii) TrFaTarE

(iv) FoT JAfAT 3maa
(v) FATST faeaa

Match the column —

(i) Density
(i) Nitrogen
(iii) Equilibrium

(iv) Negative charge ion

(v) Homolysis

Th QAeg / IIFd & 3R EIfFT -
(a) CO, & 88 TTH H fhdel Alel &lI?
(b) g8 dara &7 Sl sds Tofau|

(open system/closed system)
(Lewis acid/ Lewis base)
(solid NH3/ solid COy)
(e) Paper chromatography is based on the principle of

& SIS ST -

(a) TATIA

(b) # HeTh
(c) e

(d) 7

(e) AG=0

(f) I /Y.

(@) Anion

(b) Free radical
(c) Cation
(d)7

(e)AG =0
(fgem?

(c) ATBEISIA &I 3ol ford AT gRT fovam Smar &2

(d) PAN @T quT ara forf@m|
(e) Al,O; &1 UPHTd Har g &2

Answer in one word/ sentence-

(@) How many moles does 88 g of CO, contains?

(b) Write S unit of surface tension.

(c) By which method estimation of Nitrogen is carried out?

(adsorption/ absorption)

(5x1=5)

(5%1=5)



9.5

9.6

.7

9.8

9.9

.10 &TR T3t Ta &R Fer 9rg3 # e AR fef@u|

Write 3 differences between Alkali metals and Alkaline earth metals.

(d) Write full form of PAN.
(e) Write the nature of Al,Os.

AT Td AreloldT & P15 a 3R faf@u|
Write any 2 differences between Molarity and Molality.

37a1/0R
&g AT &1 fags forf@w|

State law of conservation of mass.
g% ST W AT 8,
Ice floats on water, why?
3dr/0R
HOR STel ST AG TATT, FAT?
Hard water does not form lather, why?
TR [T H g fw|
Define Green Chemistry.

3Idar/0R

BOD Ud COD & quT aH faf@w|
Write full form of BOD & COD.

Tch 3EIeXUT fed GoheoT & 3aURon TUg S|

Write concept of Hybridisation with one example.
3dr/0R

AN - TR Teh P Y@ITAT IJAST|

Draw the ray diagram of Born — Haber Cycle.

e I\ FHeoT @ geufa Hfaw|

Derive Ideal gas equation.

372a1/0R
3Tecd &l 37 o Fad ffEr |

State Dalton's law of Partial Pressure.

3gar/ OR
fAFATeT@d it & aH g @ @ -

(2)

(@)

(@)

(2)

(3)

(3)



(2) @Y &7 ST (b) wITECH AT (c) HIURTUT dAHD
Write the name and formula of the following compound -

(a) Baking soda (b) Caustic soda (c) Common salt

U.11 STee & WHIVEG & #eg fdg faf@w|

Write main postulates of Dalton's Atomic Theory.
3dr/0R
FATUcH &AW &1 Bl &2 344 YR Ud 3uher forfaw|
What are Quantum Numbers? Write their types and uses.
.12 fIepol §d9 @l 3ereXor dfed fAf@T|
Write the Diagonal Relationship with example. http://www.mpboardonline.com

3Idar/0R

AT Fg Pl YIH T6ET U Fag H e Tger STdl g, Fa1?

First element of each group shows abnormal (anomalous) behaviour in its group, why?

(4)

(4)

.13 pH 1 aReT HfSw| forelt #g Mol 07 @1 pH AT HITSTT TG SHBT TSIl I

HegoT 10°M 8, Upfa o aarsu|

Define pH. Calculate the pH of a soft cold drink if its Hydrogen ion concentration is 10~ M, also

show its nature.

IAYdr/OR
IR TIead &1 Bl &2 I e g 61 fauae fofaw|

What are Buffer solution? Write properties of Buffer solution.

U.14 U Prafadd Aifad H C=40%, 0=53.3% dAT H=6.66% &l Ife e w1 amsu gaca

30 &, ar s @1 3upgE AT HifST]

An organic compound contains C = 40%, O = 53.3% and H = 6.66%. If the vapour density of the

compound is 30, calculate the molecular formula.

3Ydr/OR
farafeaf@a wdfas difAer & g7 v IUPAC aF faf@e-
OMGRIEGRYTIE] (b) BicEIETES
(c) THe (d) FARIBIA
Write the IUPAC name and formula of following organic compounds —
(@) Methyl Alcohol (b) Formaldehyde
(c) Acetone (d) Chloroform

¥.15 SCHANMADT & UIA fId & fof@gu va afvrda gere T1fud Hifeu|

State First law of Thermodynamics and derive mathematical expression.

(4)



372E1/0OR
&0 & AT 3T dfed TAE HITAT|

State Hess's law with example.

U.16 3ieFETeRYOT Td Tad # Ui fdgHt W 3R e Hifaw| (5)
Differentiate Oxidation and Reduction on basis of any five points.
3AUdr/0OR
X@ifrd dedt H1 JFEEReT TE e B
(a) KMnO, (b) K2Cr,04
(c) H2SO,4 (d) NH,
(e) POy
Calculate the oxidation number of underlined elements—
(a) KMnO, (b) KoCry07
(c) H2SOq4 (d) NH;
(e) PO,
¥.17 fecaof faf@w - (5)
(a) 9 KOTcHDAT (b) A & IRET
Write short note on —
(a) Electronegativity (b) Allotropes of carbon
3AYdr/0OR

fAFafaf@d w fecuoh faf@ae -
(a) Braier (b) Fafoeprat
Write short notes on —
(@) Freon (b) Silicon
7.18 TEfA% FHIAIUT dfed fof@w - (5)
(a) FeoT TR
OEIEEEIEIER

Write with chemical equation — http://www.mpboardonline.com

Whatsapp @ 9300930012

b) Kolbe Reacti Send your old paper & get 10/-
(b) Kolbe Reaction o 30t e 8 i 10 o

3gdr/OR Paytm or Google Pay &
3Ugeh 3GTedUT Higd AThIADIG Pl Aga fAf@T|

State Markovnikov's Rule with appropriate example.

(a) Wurtz Reaction




